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 is 6 Ω. Calculate the resistance value [image: image4.png]


, at which the substitute resistance of the connection from the diagram is 16 Ω. 
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a) 7 Ω


b) 8 Ω


c) 10 Ω

d) 12 Ω

2. For sinusoidal pulses, where =1000 rd/s substitute impedance Z is:

a) Z=(10+j100)
b) Z=(0,1+j100)
c) Z=(5–j5)
d) Z=(10–j5) 

3. Gradient of the scalar field V( x, y, z) = xyz is equal:

a) grad V = xax + yay + zaz
b) grad V = yzax + xzay + xyaz
c) grad V = ax + ay + az
d) grad V = 3

4. In a charged two-layer flat capacitor (ε1 = 3, ε2,  d1 = [image: image5.wmf]1
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d2), the volume densities of energy in the first layer w1 and in the second layer w2 remain in relation:

a) w1 = w2
b) w1>w2
c) w1<w2
d) depending on the load
5. In typical electric machines when operating at rated conditions, most power losses occur in:

a) windings (i.e. in their resistances)

b) the main magnetic circuit of the machine

c) mechanical parts of the machine (bearings) and due to mechanical resistance to movement

d) magnetic circuits of leakage fluxes of machine windings
6. The induction machine gives active power to the power grid (it works as a generator) when:

a) The machine rotor rotates faster than the rotating magnetic field, in the same direction

b) The machine rotor rotates in the opposite direction to the rotating magnetic field

c) capacities are included in the rotor circuits

d) The critical slip of the machine is greater than 1

7. For conductive materials the reduction of mechanical strength with an increase in temperature is:

a)
smaller in the case of long-term heating (e.g. operating current) than in the case of short-term heating (e.g. short-circuit current)

b)
smaller for short-term heating (e.g. short-circuit current) than for long-term heating (e.g. operating current)
c)
does not depend on the heating time

d)
greater at casual load than at continuous load

8.
The use of SF6 in a circuit breaker construction is determined by:
a)
chemical stability at high temperatures of the electric arc

b)
high electrical strength

c)
the stability of the electric arc extinguishing properties over a wide ambient temperature range

d)
high thermal conductivity and high electrical strength
9. The equilibrium indicator in alternating current bridges can be:

a) magnetoelectric ammeter,

b) magnetoelectric galvanometer,

c) electrostatic voltmeter,

d) an oscilloscope

10. The measurement of the impedance of the two-terminal networks is carried out by means of  bridges:

a) direct current,

b) unsustainable,

c) six-pointed,

d) alternating current.

11. The number 132 written in the natural binary code has the form:

a) 10000100,

b) 10001100,

c) 10010010,

d) 01001001.

12. Which of the temperature sensors can be called the generator sensor?

a) PTC thermistor,

b) RTD.

c) thermocouple.

d) NTC thermistor.

13. If Up means overshoot voltage, a - distance between electrodes, p - pressure then Paschen's characteristic is described by dependence:

a) p = f (Up·a), 

b) a = f (p·Up), 

c) Up = f (p·a). 

d) neither of above mentioned answers is proper. 

14.The transfer function of the system shown below is:

a) 
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c) 
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15. Power electronic inverter is working with the efficiency 90% and supplies the 1000W output load from the source:
a) In this system the power of  200W is converted into heat,

b) The source power of 1100W,
c) The source power of 1111W,
d) The source power of 1099W.
16. From the listed below, the lowest conduction voltage drops are on:
a) SCR thyristors
b) IGBT transistors

c) bipolar transistors

d) GTO thyristors
17. The maximal conduction angle of a thyristor in 3-plase half-wave rectifier supplying the resistive load is (in the full range of the control angle α):
a) 60 degrees 
b) 120 degrees
c) 150 degrees
d) 90 degrees
18. In a drive where an electric motor produces Me, torque, the load torque (including losses) is Mm,, the following relationship best describes the static equilibrium state of the drive:
a) Me = - Mm

b) Me=Mm

c) Me = J d/dt
d) There are many relationships depending on the type of motor
19. Maximum value of electric vehicle acceleration depends on:
a)maximum value of motor torque,
b) maximum value of motor power,
c) maximum value of motor rotating speed,
d) maximum value of motor efficiency.
20. The watchdog system ensures operation continuity through:
a) preventing unauthorised operations
b) resetting the processor after an unauthorised operation
c) processor restart when a specified part of the software is not executed within a specified period of time
d) the interruption report in case of an erroneous memory hash total

G1





+





¯





U(s)





Y(s)





G2








17

_2147483632.unknown

_2147483633.unknown

_2147483631.unknown

_2147483630.unknown

